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S. % §v7 yRewl 3 @vel & & — 5. This question booklet is divideq oy

WUZ-37 U9 @US-F|

e

two sections — Section-A ang
Section-B.

6. WVS-¥ # 70 a5jfy@ Wy & 6. In  Section-A, there gy

forei @ et 35 vt @7 3w a7
Aard &1 35 gwt @ e @7
SR 3 W I 35 % & GogiH
BT 9% & forw 1 o Pty &1
FF TN 7 & o0 3oy R
W OMR IR-77% 4 Ry o e
fowey @t et / w1 avr o7 @
5 # | et st mEw & wz/
WW/W/WWW
OMR 3~ Uxa ® Q7 &e=r wr
& orar gt wRomT
g

7. @S -FH 20 TRITHWITE | 7.

gede & forw 2 o Fita & frd
9 et 10 vl @1 I v
sifvard & | 7@ sifafesg @ve 7
6 e T vy ”RF 73 & THE
& o 5 o e & g @
et 3wyt @1 IwT T Sfvard
|

8. fordl ¥R & FERIF ITFT F 8.

T goterar af &

70 objective type questions, oy
of which any 35 questions are t,
be answered If more than
35 questions are answered, then
only first 35 will be evaluated.
Each question carries 1 mark. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liguid / blade / nail
etc. on OMR Answer Sheet,

otherwise the result will be
treated invalid.

In Section - B, there are 20 short
answer type questions, each
carrying 2 marks, out of which
any 10 questions are to be
answered. Apart from these, there
are 6  long answer type
questions, each carrying 5 marks,
out of which any 3 questions are
to be answered.

Use of any electronic appliances s
strictly prohibited.
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[117]
W'Y - X / SECTION - A

TS v Objective Type Questions

mm:#mm%mm*gmwﬁmﬂgwf, frrf @ v

W #1 I G T v e w) oMR v v faftrr wH A

35 9% #71 3¢ &)
35x1=35

Question Nos. 1 to 70 hape four options, out of which only one is correct.

You have to mark your selected option, on the OMR-Sheet. Answer any

35 questions. 35x1=35

1. awmﬁﬁﬁﬁaﬁﬁﬁ,ﬁlﬁmmlpcm%,ﬁ 1 Hie H
@“Wﬁwmﬁlmﬁﬁmﬁﬁ@@rﬁﬁwm

(A) 19« (B) 1eV

© 9x107% 5 - D =@

Two equal positive point charges of 1 uC charge are kept at a

distance of 1 metre in air. The electrié potential energy of the

system will be
(A) 1 joule - (B) 1leV
(€) 9x1073 joule (D) zero
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[ 117
fiafafiga 8 @ aiftar &1 9 PH-TW BT 8 ?

(A)  Fem (B) UfERR
(C) dree (D) FEH/dee

Which one of the following is unit of capacity ?

(A) coulomb | (B) ampere

(C) wvolt | | DY coulomb/volt

forelt dienfer 6 wnfear ok ol et 2

A) & HAHfT | (B) @& 31[EHTI“!'_{
(C) =@ Fomaw | | ([_)i =il % g B g W

The capacity of any condenser does not depend upon

(A)  shape of plates (B)I si:;:e of plates - |

(C) charge on plates | (D) distance between plates
ferelt smafira e & A we g e B 2

(A) TaE® AT (B) HdE % weaq

(C) Ed& S HY 45°F HU R (D) YA
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[117 ]
The electric field on the outer surface of a charged conductor is
(A)  parallel to the surface
(B)  perpendicular to the surface

(o) ‘at 45° angle to the surface

(D) Zero

e et wre = et e @ @ S, @ e ¥ I H AT =
g ? | |
A) I3 B) &l &7 % I
(€~ &l &= * g (D) =Tl &= T 3
If a conductor is placed’in an external electric field, the field inside

the conductor will be

(A) zero o (B) equal to the external field
(C) twice th.e external field (D) half the external field
Rt form % 2 farg amavil & R Prerferim # #-a o wd & 2
a) i St gmen HTTF Bl

B) Toufrs il gl uATe gl 8

() TRufew il wHIcH AT Ve ST &1 Hehel %

D) fRufas ot I el @
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§

two point chy

: for
statements is true T,

Which of the following

opposite sign ?
(A) The potential energy is always negative

(B) The potential energy is always positive

(C) The potential energy can be either positive or negative

(D) The potential energy is zero
7. T w1 Frm e @ fo feneht g mg @ oA A farga v
A)  dE R FHIAT BT 2
(B) dW AW & W g 2
©) A |
(D) HeH MW % T % FAEET gt 2
Gausé’é law states that the electric flux through a closed surface is
(A) proporﬁonal to the charge enclosed
(B) inversely proporﬁonal to the charge enclosed
(C}) zero |

(D)  proportional to the square of the charge enclosed
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fralae-gel (kWh) 915 2

8.

(A) S B)  wfE =
(C) e AT (D) |
Kilowatt-hour (kWh) is the unit of
(A) energy (B)  power
(C) torque (D) force

0. ﬁmﬁ%ﬁh4wﬁmmﬁﬁwm#ﬁmmnummm%?
(a)  ufERR = faw ®) a3 i fre- e fam
() = = Em ©) =i | I o

. - g er -
Which of the following laws is based on the prmmple of etn gy

conservation ?

A re’s law (B) Faraday’s law of electrolysis
(A) mpe .

(C) Lenz'slaw (D) None of these

10. m%ﬁﬁﬁaaﬁﬁaﬁmm%?ﬁmﬁm;ﬂm_
(A) el & B) WAE |
) R e D) A HE T
Page 7 [ 4(
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i asurement llmlt
n its me
i hl.lﬂtf:d the

When an ammeter 18 S
creases
i ases (B) de
(A) incre

L(/IJ/ / remains unchanged (D)

1. Wmﬂﬁtﬁﬂﬂ?l%

A)  [MLT2A7%]

none of these

(B) [MLT?A™?]

-2
©  [(MLTA%] () [MLT2A]

Dimensional formula of pprmeability is

/ MT_zﬂ_zl | {B} [ MLT2 A-—Z ].

C [MLT2A2 ] {D} [MLT_QA]
12, o S P, 3
: €9 |
{Al % | B) 3m
©) & .

Unit of F is
€0
(8~ Rewton_

coulomb (B) b

(C) henry

[(25a7t37 1 T——

(D) farad
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13. 3R FE 99 Fvseh Aeminfin § ¥ £ gen g @ 9@ @ g@h gtz

(FagAsfieran)
(A) H% Tt R B) T w2
(€) Imiaffa w2 (D) ug &% & T 9T THEA! ©

If the number of turns is increased in any moving coil

galvanometer, then its sensitivity

(A)  increases _(B) —decreases

(C) remains unchanged (D) may increase or may decrease
14. IqrE fagati W |

(A) B> By . (B) B<By

(C) B=By | (D) B=0"

(B = I % qrahiE &7 1 dee BH=Tﬁ%gmﬁuaamaﬁa

UZHh )

At neutral points

(A) B> By (B) B<By

( B = intensity of magnetic field of magnet ; By = horizontal

component of magnetic field of the earth )
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afe fordt yoarad! w1 Rt wm 10A%,?ﬁ3a$raﬁmm%%l]

"
-

£

A) S5A (B) 707 A
(C) 10A (D) 14:14 A

The peak value of an alternating current is 10 A Its r
' Oot
square value will be

A SA (B) 7-07A

(C) 10A IJP)/ 14'14 A

16. \Rﬁgaﬁ&%tr&wﬁwﬁﬁmmmam%

A) o (B) 1

{C] 05, (D] _3;'-;'3-

In a purely inductive circuit, the power factor is_

(A) O | W 1

7. et W 3 Sl sy o 3 e e 3 s s gy 2
(A) ©° B) 90°
(C) 180° (D) 45°
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: . : ifference
[n an a.c. circuit containing only capacitor, the phase d

between current and voltage is

@A) ©0° . By 90"
(C) 180° (D) 45°
18, 3R & fRafa L-cw&qﬁﬁ,mﬁts’tm%
(A) -%;J% | | (B) Q“JL_T-:?
C) 2n/IC | (D) al?ff
In resonance condition, the frequency of L-C circuit is
(A) 5&{-&% - ® Q“JETE
© 2wIC - O) —JIC
19. wmﬁ;ﬁwﬁﬂﬂﬁwﬁﬁ%mmm&%gﬁwﬁaﬁw
i gl &
.(A} FE (B) A
) s (D) ol § i qeey & |
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In a step-up transformer;

' oil 18
compared o the primary ©

i

{A)/ cqual E

b

(C) more (D)

20. m?ﬁﬂﬁ‘iﬁﬁm“ﬁam%
(B) a1 Hg Ao BIHE F
(B) m%.wm%‘ﬁa.
(C) ¢d U1 BIHd & o=

(D) Eﬁlﬁ 13 T

the valu€ of

current in Secong,
. qn.

less

no relation between the "

Image formed by convex mirror is always

(A} in between centre of curvature and focus

(B) in between centre of curvature and infinity

@/i‘n between pole and focus

(D) none of these

25A/12/107
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21.

22.

[117 ]

afy et Ao R P & dpl s woad 3 fg s ST 30° &,

@l ares # T W 4 R
(A) 3x108 Ht/a (B) 1.5x108 €/a
(C) " 6x10° W/ (D) 4-5x10° w/d

If the critical angle for total internal reflection from any medium to

vacuum is 30°, then the velocity of light in the medium is

(A) 3x10% m/sec (B) 1.5%x10% m/sec

(€) 6x10% m/sec (D) 4-5x10% m/sec

ﬁa@ﬁ%ﬁaﬁqﬁmﬁm?ﬁmﬁ%m@mﬁﬁmm
foarr T 21 B & e @ en T, e I S '

(a) . B)

© far (D) 3ﬁﬁﬁfﬁ§wa

The distance between two ;:harges is made half and one of the

charges is also halved. The force acting between the two will
become as compared to previous value

(A) half (B) double

\19)/ thrice (D)

none of these
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24,

25.

|
wsﬁﬁqm}%mv%mqwﬂmwmm%ﬂ
B
AV ¥ g (B) VV % WHETRH
© & % qurEd (D) V? % "HIH

The speed of an electron accelerated from rest under ,
Poy
difference Vis

(A)  proportional to V (B) _ _pfﬂpﬂrﬁﬂnal to JV
© 1 |
Proportional to v (D)  proportional to 2

T w1 e e gy 2

a) 1 19

8 x10 C/ke (B) 1-67x10~19 kag

& |

O 1-8x10ih) D)  6-67x10!1

The i O C/kg

Specific charge of electron i
s
\{y/l-sxlo 19 C/kg -
- (B) 1-67 x10-19 C
TEdl g » 8
T F R S oy @

(A) 33y

(C) ﬁ'qam i i

| 25A/12/167 ©) iy
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In parallel combination of condensers which quantity remains

same for each condenser ?
(A) Charge (B) Energy
(C) Potential difference (D) Capacity

26. A wAAN & it Rrdga weref v 33 w g i g I B AR
(A) ¥g SR (B) € SR
© & ) TERSE

On inserting a dielectric material between two positive charges in

air, the value of repulsive force will

'\'(A]/increase (B) decrease

(C) remain same (D) become zero

27. o-zpc%amwﬁqﬂaaﬁﬁ%aﬂﬁ@@ 3-0 At R1 T @

fayga et &

(A) 60 FEAH-HI (B) 6-0x10~° F@M-HiR
) 120 FAW-H& (D) 12-0x107® Fem-iw
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' h
| and opposite charges of .
wo equ? (,

6 0 X 10—8 CClu.I()mb

etrc (B} ‘rnf:;h
yulomb-m ]
@By 00 [D). gt 8 COUlomb_%l
-metre
2:0 coulomb-m
© 12 |
ﬁgaf@mﬁlaa@@ frfdl e 0 v
@ 9% g8 & MW n &g
28. gg—
q_. (B) %o
(A) %‘ | o
ng D) T2
(C) ~ d
| . 1iooles are situated. The
electric dipo
nside a closed surface n .
jectric flux coming out from the closed surface will be
electri
2
oL B 2
(©) El- | (D) zero
€o
29. Wmﬁwwﬁﬁﬁ_awaﬁ s 6t et 8l o
T 1 ST HEGH & 5/ I e 2
A) A (B) %
- % D) =
[25A/12/107 | -
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ﬂ [117 ]

vo light
L Bht waves of cqual amplitude and cqual wavelengths are
superimposed. The amplitude of the resultant wave will be

maximum when phase difference between them is

-

_ Ay zero B)

Hla

© 3 D) =
30. GRS A F 7 T g v 5 A R
A - (B) ;45°
(C) 90° {p} 180°
In polarised light the angle between plane of vibration and plane of
polarization is
(A) 0° - (B) 45°
(C).~90° (D) 180°

31, Peffed § $-d dga geh a0 T @ 2

() v R @ T e
() 3T R (D) U fepudt
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‘Which of the following is not an electromagnetic way,,, .,

(A)  Alpha rays (B) Gamma rays

_@/Infrared rays (D) X-rays

32. Pﬂﬁmmmﬁﬁ'ﬂﬁ*ﬁ‘aﬁmﬁwmﬁm%
(A) T@% qoe W B) TS ST
(C) sEhH diga €« (D) FTh! TUSIHaAT g3
The speed of electromagnetic wave in any material Mediyp ,
not depend
(8 Upon its wavelength  (B) Upon its frequency
(C)  Upon its intensity (D)  Upon its permittivity

33. m—ﬂmmﬁmﬁmﬁﬁmﬁmmﬁmm-a
Bicy
(A) e B (B) wedi @
(C) i e 2 (D) & wget & o fraa & i
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In the phenon
1IN0 . ) .
n of I}]““‘Lht‘ivr*lrir emission, on increasing the

intensity of incident light, the photoelectrie current
(A) increases
B} decreases
(C) remains unchanged
(D)  first increases then remains constant
34. TRl TR H91 § Wearg & skt i winded iy Ad F 2
(A)  TEEH W (B) e T
(C) a9 - Ha W

The wavelength of'de Broglie wave associated with any moving

particle does not depend on

(A) mass - (B) charge

(C) velocity Py~ momentum
35. WIS % TfaS gead™ &1 g 8

(A) 1’;1 (B) :—;

© ke O
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The formula of kinetic mass of photon is I

Ay by B

2
2

36. R T B g % @ A dE T TP W g .

! wiwd gt
@& 5 ® 2f
© L o) 3f

If two converging lenses of equal focal length fare kept in ¢

then the focal length of the combination will be

B) 2f

Ay f
\53//¥£- (D) 3f

37. U Iue AW i awan 2 2RI 31 3EH W g A
(A) 20 o (B) 50 uft
(©) 40wt (D) 60 A
Power of a convex lens is 2 dioptre. Its focal length will be
(A) 20cm | (B) 50cm
(C) 40 cm (D) 60cm
25A/12/107
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D

38. ﬁﬂ%ﬁﬁﬁ?—mﬁmwaﬁmﬁﬁmﬁ@ﬁﬁmﬁm
ST @ ?
(A) S (B) o¥Edd A
() I (D) AeHEHR T
Which of the following is used to reduce chromatic aberration 11
lenses ?
(A) Convex lens
(B) Concave lens
9/ Achromatic combination
(D) Cylindrical lens

39. ﬁmﬁaaﬁmaaﬁgmmw%,mw_mﬁ@h%mﬂ%
ST F SO A 2, 79 @R BHA gl
(a) T EM (B) FFa &l
© @I (p) weh
A convex lens is dipped in a liquid, whose refractive index 1s equal
to the refractive index of the material of the lens. Then its focal
length will
(A) become Z€ro (B) become infinity
(C) reduce (D) increase
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40. G %

red due to
The bubble of soap appgars colou

olarization
(A) diffraction Jﬁ’/ e

ction
(C) interference (D) refle

41, Preaferen 3 @ Red g 7 P o @A 8 2
(A =l G (B) Wbl @l

© W D T

Which of the following cannot be polarized ?

{A} SUund waves

(B)  Light waves

(B)
© g oy X 3 By

D
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2 7

A person uses spectacles (lens) of + 2D power. His defect of

vision is
(). myopw (B) hypermetropia
(C} PrﬁSbyopia \91/ astigmatism

43. ﬁ%ﬁﬁ%ﬁm@%mﬁmm%ﬁqﬁm@@m%
M) nSER (B) pIHR Fl FGICD

(C) n-YR I Telh (D) p-SR HI T

: ; : cpo mo RS resultant
When boron is mixed as impurity in silicon, then P

matter is

p-type semiconductor

\(_Ji]/ n-type semiconductor  (B)
(C) n-type conductor - (D) p-type conductor

44, R ¥ T ¥ e e aEh T 8

(A) TR ® '
() g Ul A (D) ¥ A B T

In n-type semiconductor the minority charge carrier is/are

(AY” electrons (B) holes

(C) electron and hole (D) none of these
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A5, @A-H1 il iz @ ael y
B AND
(\) ORM By
) NOT e (D) XORTe
(C

Which logic gate’s output 1s true only if the inputs are difrere
ic |

(B) AND gate

(A) OR gate
) NbT - | (D) XOR gate
46. v FREA SRS Bl 8
(A) SR EEIE (B) LED
© W s (D) (A) 3R (C)
Reverse biased diode is
(A)  Zener diode B LED

C P i
(C) hotodiode (D)  both (A) and (C)

47. NAND 72 % qj%qqm 2

(A) A B=vy

B) A¥B-y
{C} A.B“_—.Y
{D} A"‘B:Y
Mj\
___--"""/
page %'
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P

(117 ]
Boolean expression of NAND gate is b
) A.B=Y @) A+B=Y
(C) A.B=Y (D) A+B=Y

48. mmmﬁmmﬁﬁmmmw%?

(a) = @ @) TrgagedE @@
(C) ORI g (D) it A

di ' ication ?
What type of wave is used in fibre optic communica

(A) Sound waves | ~(B) Electromagnetic waves
ismi (D) Mechanical waves
Memmm waves
49 wwammﬁﬂ@qmwmmm% ?
(A) 30- 300 Hz (B) 30- 300 kHz
(c) 30-300 MHz (D) 30 -300 GHz
Page 25 [/ 40
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E {117|

Which one of the following frequency ranges is used for Ty
transmission ?

A" 30 - 300 Hz (B) 30 - 300 kHz

(C) 30-300 MHz (D) 30 - 300 GHz

0. U @ ae % wueenft % ot qen o o @ ?

(A) et B g (B) =gl H T

©) R den (D) ] He

What is the main difference between isotopes of the same element ?

(A)  Numberof protons (B) Number of neutrons

Mumber of electrons (D)  Atomic number

51. fm=fafen # S-an Vet s & wor 7 2 -
(A) e &E B) e
(C) W & D) A &

Which one of the following is not a type of radioactive decay ?

(A) Alpha decay (B) /Beta decay
(C) Gamma decay @/Muon decay

25A/12/107 i
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[117)

3 500nmwma@%ﬁwwm?

(maﬁ C‘:'..Sx‘loa

m/3 3R h=6.626 %1073 Js )

A)  4x10719

@) *107g (B) 2.5x10719 g
. -18

{C] 1 2)(10 J {D] G'GXIU_IQJ

What is the energy of a photon with a wavelength of 500 nm ?

(Use ¢=3x10® m/sand h=6-626x10"3 Js)

@) 4x10719 (B) 2.5x10719yJ

\_(_(;}/1~2x10"13 J (Di 6:6x10'19 J
53.  EEgIM Wagy A w-w it ge o A vt R 2

(A) @TEEA it B) & Jof

(C) ure=A v (D) s Ao

Which series of hydrogen spectrum lies in visible portion ?

(A) Lyman series (B) Balmer series

: (D) Brackett series
Jor Paschen series

54 P 8 @ e fa w82

R B) p-H
o R (D) WM
P
25A/12/107 | S AE D
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E [1173

Which of the following is chargeless particle ?

(A)  a-particle (B) p -particle
(C)  Proton 9)/ Photon
SS.  Xx-fewt g
@) R mE @) TR ST S

(C)  TiowH e SRE (D) fore-gerebd a0

X-rays-are
‘_9)/ moving electron (B) moving positive ions
(C) moving negativeion (D) electromagnetic waves

56. lamu$ gATAE
(A) 190 MeV (B) 139 MeV

(C) 913 MeV (D) 931 MeV

Equivalent energy of 1 amu is

(A) 190 MeV B 139 Mev

(C) 913 MeV (D) 931 Mev
107 S
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a [ 117 ]

100 nF U@ 9@ wuifta &) 100 St a% anafem &0 o 3959 afa s
il
(A) 0-'S §& (B) 5 e

_#

(€Y S0+ (D) 100 3#

A capacitor of 100 pF is chargcd to 100 volt. The energy stored in it

will be

l{tlf 05 joule (B) S joule
({C) 50 joule (D) 100 joule

58, frafefa  frae wos dee-dfia! 2 2

() faga v B) fagafem
(€ faga & (D) faga i
Which of the following has unit volt-metre ™} ?

JAY"  Electric flux (B) Electric potential
(C)  Electric field (D}  Electric capacity

59. Q@Wﬁmégmsﬁqﬁwmﬂwuqﬁm%%ﬁ%m
&1 favar v e gy 2
(A)  V F s (B) V % oA
(©) V>3 swaryd (D) V2 % sgmmwTar)

| 25A/1
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free electrons 1N condue,,

it velocity v of
| differenc® V between endg

The relation between dri

. ntia
in electric conduction and pote

conductor is

inversely proportional to v

(A) proportional to V (B)

| 5
60. @Wﬁaﬁmvwwﬁ?ﬁimﬁwwa Y- A9 (|

o 1o et e &) 2 o e &1 e 1 SR E

A)  tano L B) cotf

(C) sin® (D). cos®

The‘ graph b_ctweeﬁ voltage V of a conductor and current Iisa
stréight line, which makes an angle 8 with y-axis ( which
represents I). The resistance of the conductor will be

( tan© - ' (B} cot®

(C, sin © ‘ (D) cos ©

61. faea ufwy i wftw gt 2

(A) V.R (B) VQ.R
[25A/12/107 | e J/
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a (117 ]

power of electric circuit 1s

A} VR B) V'R

©) V?/R D) V2RI
o, N $ WY TS Mkl

(A) WG R

(B) W R

©) it sgar & 3R+t wea @
(D) awfEfda & 2

With the rise in temperature, the resistance of semiconductor

(A) INCreases

B}~ decreases

(C) sometimes increases and somctimes decreases

(D) remains unchanged
63. fymfuRad § sH-u1 9RRY R I I Fl & ?
(p = fesar, | = aerel it 7=, A = I HE 87)

w o(3) o o(3)
[

p-
A

A Dy =&

(C) = (D) =

25A/12/107

Page 31 / 40

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/
https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/

l117]

. R ? (p= resics:..
Which of the following represents resistance, ( Slstl‘ntyi

i ea
I = length of a material, A = cross-sectional ar )

© L o 2
64. e gy el & forg oy gt (1, ) A R
(&) p, <1 ®) n, =1
€ p,>1 D) p,>1
The relative permeability ( p, ) of ferromagnetic substance is
(A)  p, <1 (B) | w, =1
€ u,>1 o/ p,>>1
65. R, R, ¥R R, gfdi & i@mmﬁ_mnﬁﬁaﬁﬁﬁam
(A) TEH B R |
B) Pmade
© AT
(D) ey % Hed < g  fannfora 2 &
[254/12/107 Page 32/
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In series Ci " i
Ircuit with resistors p [117]

1» R2 and R
through €ach resistor jg 3: the Current ﬂ”ang

A) - same

(B)  different
(€)  zero
(D)

© R s = e (A m?)

(D)  &ree 9y Wt (v/m)

The unit of cut;re-nt density is

(A) ampere (A)

(B) coulomb (C)

@4/ ampere per square metre (A /m?)

(D)  volt per metre (V/ m)

| 25A/12/107
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B Ill?]

ah S TN T f
07. ﬂﬁﬁiﬂwaﬁ?ﬂﬁﬁwmﬁmmﬁ Ry

i -
R R v w, @ wEgH B AT |

T
(A)  GE R @ QFE

.
(©  amwn & s p) I ey

d while keeping the Poteng,

'is dOUblB 1

If the length of a conductor

i ocity of electron y;
difference across it constant then the drift velocity wil]
111er »

double
{Ay remain the same B el

be halved (D) incréasec fourfold
(C) e halve

68. m-mmmqwamgmmﬁﬁmé?ﬁ%

B) FEP gAML
(A) AR

¥ st
(C) & = F9E] (D)
The direction of magnetic field inside a current carrying solenoid is
(A) circular
(B) parallel to axis

(C) perpendicular to the axis

(D) random

J|'i1’[.']

34
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ﬂ (117 |

| Preafefea A SR 3w e el o ¥ fegin W i 2 2

() aeeie e e

(€) Taga s D) whe

Which of the following devices is based on the principle of

electromagnetic induction ?

(A} Voltmeter (B) | Electric motor
\[9]* Electric generator (D) Ammeter

70. T URARE 1 E-Newed foit e 2
(A) THEH WEm g aRf g W
B) w7 T § W A den w
(C) wiefornt i T W
(D) (B) 3 (C) 3
The self-inductance of a solenoid dcpﬂncis on
(A) The ‘current flowing through it-s médium |
(B) The number of turns per unit length

(C} The length of the solenoid

(P1 Béth (B) and (C)
25A/12/107
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@vg - @ / SECTION - B

Fl'g Hﬁ'-ﬁ‘q uyq / Short Answer Type Questions

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questfﬂn.

Each question carries 2 marks : Hinge,
4

1.

N B w3 o qued § 2

Wh&t. do you mean by power of accommodaﬁon of cye ?

2. T IR W wwm
Explain electrical resonance.

3. ﬁwﬁuﬁmﬁw&wﬂmﬁﬁaaﬁmmov%!ﬂﬁRw*
XL =Xc=6Q, @ 4w H @f mer g wm wwn qhuy 6 g
IEEacl '

The applied voltage in an alternating circuit is 220 Vv If R=8¢
X, =X~=6 Q, then find |

L C oot mean square valye of voltage a
impedance of the circuit, |

25A/12/107 T £ 7
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~¥
i

¢ K

11.

How does refractive index of any medium depend upon the

wavelength of light ?
R AIHE TR ?

What is Curie temperature ?

FTTEHE weY & Q T H fad)

Write two properties of paramagnetic substance.

o TRl 21%43@ﬁ@%@ﬂé@ﬁﬁqﬂaﬁﬂﬁﬁm
Convert decimal numbers 21 and 43 into their equivalent binary
numbers.

g fraueT @l A dorE J SR SRl

Write down the difference between nuclear fission and nuclear
fusion.

w%@mmﬁmmﬁmﬁﬁWI

i 3wt g @ e ferdl

Write Fleming’s left hand rule.

aﬁwfﬂﬁaﬁﬂ%ﬁ@maﬁ'

diffraction. T
25A/12/107
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12,

13.

14,

15.

16.

17.

18.

'm%mmﬁmmélms.l.mﬁaﬁ%@

‘aﬁwm@m%maﬁﬁwﬁ' o

Co :
mpare the magnetic properties of steel and saft iron,

ﬁ;mzimﬂ:%mm%mmm*am%w
W Hiftng, )

Menti rti the m ri
on the two characteristic properties of the mate ia] S
lt.ahle

for makipg Core of a transformer.

WWW@W%WWW%IWWQW

- PUEE A g o s w0 | -

A Proto 1-|r etic ener Whlch
ton and an etectron have same kineti gy. i Gneha
8

greater de Broglie wavelength and why ?

Define volume density of charge. Write its SI unit

ﬁ'ﬁﬁaaﬂtggiﬁamﬁlms.l.m%él 1+4]

Explain magnetic moment. Write its S ﬁnit

aﬁa(a,]%mﬁ%auuﬁﬂ%%@

Write two properties of betg (B) rays

A % TR wa B wwe

Explain Bohr’s stable orbit,

25A/12/107
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a [117 ]

9. @ T g, %@ﬁwnﬁga a}aﬁ@m%rﬁfs’:ﬂaﬁaﬁ &7 &
TSR | Waa &1 @ 180° Hor & yurt & Ry man w7 719 Ay

An electric dipole is held in a uniform electric field. The dipole is
aligned parallel to electric field. Find the work done in rotating it

through an angle of 180°.
20. TER Womeh ¥, Hwr % R vy @ faftm Riftei w5 g Sk

Mention two different modes of propagation used In

communication system.

& 39T W9 / Long Answer Type Quegtions

| Ty ST 01 & 26 HF IhT v & | Pt 3wEA & s & | 9RF & fo1¢
5 3% freifea & : | 3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any

3 questions. Each question carries 5 marks : 3 x5+ 15

21. f&uégﬁaﬁﬂmmmmmaﬁwﬁmﬁlmméwﬁﬁm
SrEd e ¥ A e farg W farga &= i st o R

State and prove Gauss’s theorem in electrostatics. Calculate the
electric ﬁcid intensity at a point outside a hollow uniformly charged

sphere.
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£ I s
22, o, % fran fod e st T T E o

S
wia |

gbtafl‘l the conditigy, b
e

s . them 0
State Kirchhof’s laws and usc t

balance of a Wheatstone bridge-
23, dom w R sl @) oo B
WradT & @) wfta S

mﬁg%ﬁaﬁﬁl@iﬂ%mmm
| .

ary wavelets: Verify the lay of

wavcthc?fy"
ara o ¥ AT T SRy

2+3

Define wavefront and second

reflection on the basis of Huygens’
24, EigAGEWR? QA f; W@ fgﬁﬂ@
@ﬂmmwm@wﬁﬁwﬁ'

s ? Derive an expression
gths f, and fo kept
- g qReTIRTHIAT 1 Iy

2+3

for equivalent focg|

; i t len :
What is equivalen at a distance ¢

length of two lenses of focal len

05, TR T I dor @ aReia A
T 1 S5 |

| nd i Xpressi
Define self-inductance and mutual inductance. Find an exp ion

inductance of two coaxial solenoids.

for mutual
26. m-a@mw%?m-é@m%ﬁaﬂw%?mﬁm
fou mq gq w6t ST Hil 2+3
I l : lectric
i toelectric effect ? What are the laws of photoe C
What is photoelec | | e e
effect ? Explain this law given by Einsteln  saame ﬁtlz,aﬁ'?,aﬂng, m_‘ Eﬁél I'“
UTSIshd, siled, AT &<, de-37 3
oo udter usst ua 3nfe & fAe...
( BiharboardQuestionpaper.com p
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